e
= =
1 BREE
[#2 = & %] 1.291)
B E # i iR E A REERH(F) 1,271
SHERERE T ¥ B = 101
B 1,274 £ ¥ £ EBE R 239
0.3hask i 8 Bl £ £ E R 931
0.3~1.0 961
1.0~3.0 255 | mE2x A0 (A) | 4.181|
30~50 27
5.0~10.0 18 IEEEE TS 33|
10.0hakl 5
[E#:TR28ERR RAIEMETEERE
2 FEHHMEE
E 9 |@m #BEwra)| BR—FUYEE @
R 1,213 95
1,021 81
i 145 16
i B i 47 56

(B FR28ER BIRHHEE

3 FEREVMINES

(ER26%)
X % K X = X E s ErEC
& 15 (ha) 1,230 52 - - X
I # 2 5,730 30 - - X
(B#: Fr28FER RBIIEHETEE
4 BEEH
(Frk28FE2H1BIRAE)
X % Bk FRIRES B tEE
B8 19 400,320 — 600

(B BMOKER]




